Shroud Covers
R2 jr. (14" Wide)
(Before 3/1/00)

Detail A"

Side Panel Shroud

NOTE: After 10/05/99 item 5 and 6 shown were replaced with reference only

dual lock fastener strips of 2 inches long instead of | inch
long. Right/left side panel shrouds and trunk lid were effected.

Shroud bracket
front mounting



Shroud Covers
R2 jr. (14" Wide)
(Before 3/1/00)

ltem #'s 1-3 Shroud Covers

R2 jr. (14" Wide)

Item
Number

Description

Bright
Plum
Metallic

Bright
Blue
Metallic

Blue
Green
Chameleon

Candy
Apple
Red

Bright
Silver
Metallic

Side Panel with
Rubber Bushing
(Sling Seat) -
Right

1087147-NLA

See Note(s) A, B

1087148-NLA

See Note(s) A, B

1087149-NLA

See Note(s) B, A

1087150-NLA

See Note(s) B, A

1087151-NLA

See Note(s) A, B

Side Panel with
Rubber Bushing
(Sling Seat) -
Left

1087152

See Note(s) A, B

1087153-NLA

See Note(s) A

1087154-NLA

See Note(s) A

1087155-NLA

See Note(s) A

1087156-NLA

See Note(s) A

2

Battery Cover

1085572-NLA
See Note(s) B

1085573-NLA
See Note(s) B

1085574-NLA
See Note(s) B

1085575-NLA
See Note(s) B

1086623-NLA
See Note(s) B

3

Trunk Lid

1086181-NLA
See Note(s) B

1086182-NLA
See Note(s) B

1086183-NLA
See Note(s) B

1086184-NLA
See Note(s) B

1086185-NLA
See Note(s) B

NOTE: A - Decals notincluded. See page titled, "Packaging, Literature and Decals."
B - These Shrouds are no longer available. See page titled, "Shroud Covers - After 2/29/00" for color conversion options.
ltem Quantity Per
Number | Note | Part Number |Description Package | Assembly
1-3 See Chart Item #'s 1-3 Shroud Covers 1 1
4 1070555-NLA | NLA - Fastener, Dual Lock (5/8" W x 2" L) 1 2
5 1070587 Washer, Flat (3/16 x 5/8 x 1/16") 1 8
6 1028755 Screw, Phillips Pan Head (#10-32 x 5/8") 1 8
7 7930332-NLA | NLA - Locknut, High Profile (#10-32) 25 1
8 1070594-NLA | NLA - Bushing, Rubber 1 2
9 1070575-NLA | NLA - Screw, SEMS w/ Washer (#10-32 x 7/8") 1 2
10 1050161-NLA | NLA - Screw, Hex Head w/ Patch (5/16-18 x 1") 1 3
11 1088261-NLA | NLA - Bracket, Shroud, Black - Right 1 1
11 1088262 Bracket, Shroud, Black - Left 1 1
12 1070577-NLA | NLA - Plate, Trunk Clip 1 2
13 1070588-NLA | NLA - Screw, Phillips Truss Head (#10-32 x 1/2") 1 4
14 7930332-NLA | NLA - Locknut, High Profile (#10-32) 25 1
15 1088497-NLA | NLA - Fastener, Panel (5/8" W x 3/4" L) 1 1
16 1070556-NLA | NLA - Fastener, Dual Lock (1" W x 2" L) 1 2
AB 1086186 Hardware, Side Panel Attaching 1 1
NOTE: A - Not Shown.

B - Includes Items 4-7 and 9-11.




